QUESTION BANK

Q1: Define the following words?
(Dichogamy - Protandry - Monoecious - Protogyny)

Q2: Fill in the blanks with correct words?

1 — Temperate deciduous species are confined mostly to the middle latitudes, from
about — to —.

2 — The orchard should not be planted less than about —— meters up from the base
of a slope.

3 — The windbreak trees are like reservoirs of cold air and many also compete for
—_— —and —.

4 — Flowers and young fruit are more tender from spring frosts than —— fruit.

5 — In the beginning, during the later summer season, the deciduous tree must stop
growing, by and

Q3: Answer only Ten (10) of the following question?
1 — Write the scientific and family name of walnut fruit tree?
2 — The concentration of the commercial production of each species in relatively few
areas has
occurred, why?
3 — The many exceptions to these generalizations of fruit trees are due to, what?
4 — Why, the Windbreaks should be planting not be closer than about 25 meters to
the fruit trees?
5 — The delay of bloom on north facing slops can be value, for what reason?
6 — The temperate deciduous tree or shrub responds to seasonal changes in a number
of ways, depending upon?

Q4: What are the main climatic limitations for Persian walnuts in the western
U.S.A?

Q5: What happen to walnut fruit when the summer is very hot (37.8 °C) and
humidity is low?

Q6: The trunks of walnut should be painted be painted white, why?

Q7: A large number of factors are influence the germination of seeds, such as?



